BERE-TILOY v DOR2 A=
K % OB E can R E kg

&R °C

1LEEFESWVSTERDBYETH ? (UEDFTLEEW)

(1 KE [ &% [ Bon L] WOELATEW [ BEERHULEW
[0 mEABL [ BESHTERE - BaElch ok (7 )
(] BIER (% - &KGE) L ZDMOERDAIFFICEALTILEN

: J

25 FETRRICHD - TIEBLHBY T ITH?2(AR LY. IREERPOBRELE)
] & (1 WA

“IBV EEZASNEFRBAERATVRREERHZTIREEL,

Bl EMETT7 25— b ZBA TS
AIILARAEK CriEfe
fRAfEZ aFERR L

3. CRIETRRICD D 2 TV BB RRAR ARV ETH ?
&L (] LWz

[:Wmﬁﬁ%ﬁﬁxﬁﬁMEﬁ%mﬁa :j
4. EEPB\MEET7LIVF—RBHBYVETH?
(] &=L [ %% (B\Y): = )
5. HBEIIRFFETH?
HRZ% L] WO ENCSWEBFETH 2 %/ 8)
6. Z/I\NJUI/MNETH ?
HNES (] WA ENCSVIRVETH X x/H)

7. ZEDHICEEELT T,

"/E. mRLTOEITH? [ Fn (] LA (] bhskEn
BE. |BAFTIH? HRE% ] LWWNZ

8.ERELDELSICLTHVELEDL?
CIRAREED S DN [LI1 2 —% v b (R—LRX=I%E) LIER

L )



